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These answers will form part of your assessment for this module. Think carefully about your answers.
1. When considering a machine, we can generally divide it into three broad sections depending on the duty of the section. These are (A) ‘primary drivers’, (B) ‘intermediate drives’ and (C) ‘driven components’. Consider the following and indicate to which group they belong.

· Electric motor
· Electric generator

· The chuck on a drilling machine

· Steam turbine
· Drive chain

· Vee belts

· Water pump

· Wind turbine

· Water wheel

· The cutting head on a lawn mower

· A petrol engine

· Compressed air motor

· Gearbox

· The rear wheel of a motorbike

2. There are five distinct phases in the Life Cycle Costs of any product. The ratios of these costs will vary depending on the product, but they will apply to all products. In your own words indicate what these phases are.

· 1.

· 2

· 3

· 4

· 5

3. The cost of ownership of a product can be split into two types of cost, (A) the ‘one off’ costs, and (B) the ‘recurring costs’. Indicate which category the following fall into.

· End of life disposal
· Initial training

· Maintenance and repair

· Delivery from supplier

· Refresher training

· Service charges

· Procurement

· Operating costs

· Implementation

4. The maintenance function can be split into two broad categories, routine and planned. List some example functions under the headings below:

Routine:

Planned:

5. There are three main strategies in maintenance. For each type make a list of the benefits and also of the downsides .
· Run to Failure: Benefits
· .

· .

· .

· .

· Run to Failure: Downsides

· .

· .

· .

· .

· Preventative: Benefits

· .

· .

· .

· .

· Preventative: Downsides

· .

· .

· .

· .

· Predictive: Benefits

· .

· .

· .

· .

· Predictive: Downsides

· .

· .

· .

· .
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